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Read the following passage carefully and select the most correct answers of the given questions:
(Q. No. 031 to 035)

Though it may be essential to the imagination, traveling is necessary to an understanding of men. Only
with long experience and the opening of his wares on many a beach where his language is not spoken,
will the merchant come to know the worth of what he carries, and what is parochial and what is universal
in his choice. Such delicate goods as justice, love and honour, courtesy, and indeed all the things we care
for, are valid everywhere but they are variously moulded and often differently handled, and sometimes
nearly unrecognizable, if you meet them in a foreign land, and the art of learning fundamental common

values is perhaps the greatest gain of traveling to those who wish to live at ease among their fellows.

031. According to the passage, traveling leads to -
(1)  exploiting foreign lands.
(2)  selling our wares to the others.
(3)  understanding human nature

(4)  establishing our superiority over foreigners

032.  When we meet other people while we travel, we learn to differentiate between
(1)  friends and foes (2) communities and nationalities

(3)  local and universal values (4) 1imagination and understanding

033. The writer terms justice, love, honour and courtesy as delicate goods because they are
(1)  important (2) desirable
(3) fragile (4) perishable

034. Traveling helps those who
(1)  want to learn foreign language
(2)  wish to make money
(3)  want to resolve differences among people

(4)  wish to learn fundamental common values

035. The things we care for are available in foreign lands in
(1)  plenty (2) unrecognizable forms

(3)  some form or the other (4) easily recognizable forms
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036.

037.

038.

039.

040.

041.

042.

Choose the sentence in which the correct articles are used :
(1)  The old are respected by the young (2) An old is respected by a young
(3)  Old are respected by the young (4) The old is respected by the young

Choose the correct ‘prepositions’ to fill in the blanks in the given sentence :

Don’t side those who act contrary national interest.
(1)  for, against (2) to, to
(3)  to, with (4) with, to

Choose the word nearest in meaning to the underlined word in the given sentence :
There was no ostensible reason for her being angry at her husband’s remarks.

(1)  Hidden (2) Covert

(3)  Apparent (4) Secret

Choose the word opposite in meaning to the given word :

‘Exasperate’
(1) Belittle (2) Annoy
(3)  Tarnish (4) Please

Fill in the blank with the appropriate passive form of the verb from the alternatives supplied :

He a written test before he was appointed.
(1)  had been given (2) has been given
(3)  will be given (4) was given

Choose the correct alternative to fill in the blank :

I if [ were you.
(1)  will apologize (2) had apologized
(3)  would apologize (4) was apologizing

Choose the alternative showing the correct indirect narration of the given ‘Direct speech’.
The old man said to him, “Is your father’s name Manoj?”

(A)  The old man told him whether his father’s name was Manoj.

(B)  The old man inquired whether his father’s name was Mano;j.

(C)  The old man asked him whether his father’s name was Manoj.

(1)  Only ‘B’ is correct (2) Only ‘C’ is correct

(3) Both ‘B’ and ‘C’ are correct (4) Only ‘A’ is correct
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043.

044.

045.

046.

047.

048.

049.

Identify the figure of speech in the following line :

‘O grave ! Where is thy victory ?”

(1)  Personification (2) Apostrophe
(3)  Euphemism (4) Epigram

Identify the part of the sentence which has an error.

He is well up / these days despite / having ill health / No error

A B C D
1 A 2) B
3 C 4) D

Name the underlined ‘clause’ in the given sentence :

We come here that we may study.

(1)  Adverb clause of place (2) Adverb clause of purpose

(3)  Adverb clause of supposition (4) Adverb clause of cause

Choose the one which is the correct ‘Question Tag’ for the given sentence :
‘Everything is fine’.

(1)  1isn’t everything? (2) isn’t this?

(3) isn’tit? (4) isn’t that?

Choose the mis-spelt word :
(1)  Asterisk (2) Audience
(3) Acrue (4) Almighty

Choose the alternative which best expresses the underlined phrase :
He is out and out a reactionary.

(1)  deadly against (2) 1in favour of
(3) no more (4) thorough

Select the combination of numbers so that alphabets arranged accordingly will form a meaningful

word :

A S K 1 R H

1 2 3 4 5 6
(1) 264315 (2) 543126
(3) 513426 (4) 312645
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051.

052.

053.

054.

05S.

Select the combination of numbers so that the parts arranged accordingly will form a meaningful

sentence:

1. engaged in other 2. they are 3. because 4. it is difficult
5. servants in big cities 6. to find man 7. profitable professions

(1) 4617352 (2) 2534671

3) 4653217 (4) 7132546

State what part of speech is the underlined word :

She likes the same colour as I do.

(1)  Adverb (2) Relative pronoun
(3)  Preposition (4) Conjunction

What does the underlined modal auxiliary express?

If it should rain, they will not come.

(1) Supposition (2) Duty
(3)  Suggestion (4) Advice

Which of the following pairs is not correctly matched as ‘one - word substitution’?
(1)  Absence of government - anarchy

(2)  Government by the nobles - autonomy

(3)  Government by one - autocracy

(4)  Government by the officials - bureaucracy

Choose the grammatically correct sentence :

(1)  The population of London is greater than any city in India

(2)  The population of London is greater than any other city in India
(3)  The population of London is greater than that of any city in India

(4)  The population of London is greater than most other cities in India.

Choose the correct alternative :

(A) Canvass shoes are no longer in vogue.

(B)  Candidates are not allowed to canvas for votes on the day of the election.

(1)  Only ‘A’ is correct (2) Only ‘B’ is correct

(3) Both ‘A’ and ‘B’ are correct (4) Both ‘A’ and ‘B’ are wrong
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056.

057.

058.

059.

060.

Choose the odd man out :
(1)  Trousers (2) Alms
(3)  Scissors (4) Innings

Choose the alternative which best expresses the meaning of the underlined idiom :

Monika’s habit of picking holes in every relationship is very irksome.
(1) Admiring people

(2) Finding fault

(3)  Criticizing people

(4)  Arguing with people

The specialist who cares and treats feet is -
(1)  Osteopath (2) Orthopaedist
(3)  Chiropodist (4) Dermatologist

Which of the following is a rhetorical question?
(1)  Should a school have a gymnasium?

(2)  How should one keep oneself physically fit?
(3)  Isn’tit a shame to torture the weak ?

(4)  What is demonetization?

Choose the correct simple sentence for the given sentence.
He finished his exercise and put away his books.

(1)  Having finished his exercise, he put away his books.
(2)  He finished his exercise by putting away his books.
(3)  To finish his exercise, he put away his books.

(4)  In spite of finishing his exercise, he put away his books.
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065.

066.
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ATAATIHIME d AJTYA/MNTEA

et oo faummed arél Jewid hivid fau™ a3 ?

(1) a6 & ifHfraa wEaret 3.

(2) dTe & IR .

(3) TERUET It UEETSAT Higvl YHIOE dTe Bisdl 318 TRl
(4)  TUREETAT HedH TUR U= Sifash HaR are FEfa .

Gref! feeren SvErawedial ®Reh Hived fashmra afmwemih! Hivd faam @ g ?
(1) Fasma ferren wafavs F@d.

(2) HATSA FAATER AT AIAT-fUdT JTeAT S TR Y9E ST,

(3) goAT FIETE 916 YRITIRE SRS g S,

(4) YA THROTSIER g 3T,

Greft fedea faummed gaen fawefie s faam @ T ?

(1) e Sfeeummad i waearl amiies gfhan w@oe dae
(2) e Sfeeuemifasi=h e Sofla oS gae

(3) T Sfigue i T A e SaE

(4) = Sfeguenram HagAT g e TE.

JIUE S Y gl a1 Skl 9 UREVHl A1 TEEIE BId ITEA! AT AHSIETETSAT T @Te
bl iord faem gt ga e

(1) Hdean 31 AEAHT ARl o ITPayHT A1 gl M8} foema sarean darTTa.

(2) IR TEEEA HA Fdd HIAHT haed I Tl IRAYH! A& 9 T FHd.
(3) @hdl & UrwEHt AT SEe B Akl

(4) & 9CA ITIHT HUITAT I, T TEEUTER ST STl

T I FHR FHAHT 1 S e e B:=ege 3H @I df Uit 8. iomn fowit wret e
faurmied v faam @ T ?

(1)  wfqmr qor BoamEEt ot wa Hacian 1|0 SATavds TR,

(2)  ufdET TR BT AREATE dede g,

(3) ST Sreae ded! qadvan IfHT e giar.

(4)  FHTEEERT UEw B gaeash i frfed swdm.

Ut STl SITE, god WA SWRY, GlehdT, YATEdiedl T € Fd IS Wielieiieh! sheuseal shivrel
TR AT ?

(1) Higdfas Hewn (2) sty oo

(3) SHIEIEh Sheudl (4) YTRHTGH Heddl

‘qatvarean fafay STl wHIde BT SedT-Sed Ul TEUS foeR RO g 318 Ud Wiefierdehl
VT HHETETH A 378 ?
(1) T (2) =re (3) . wa. U™ (4) AT T T
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061.

062.

063.

064.

065.

066.

067.

CHILD DEVELOPMENT & PEDAGOGY

Which of the following statement is correct about growth?

(1)  Growth is indefinite in nature.

(2)  Growth is hereditary

(3)  Itis not necessary that growth will occur according to the chromosomes during conception

(4)  Growth does not control the biological structure built up with the help of chromosomes.

Which of the following statements about motor development of infants incorrect?
(1)  An infant does not have emotional world.

(2)  The behaviour of a child is affected by the behaviour of his parents.

(3)  Growth of movements in children occurs from feet to head.

(4)  Children have intense memory.

Which of the following statement about sensation is not correct?

(1)  Sensation is primary mental process concerning external stimulus.
(2)  Sensation means only awareness of the external stimulus.

(3)  Sensation is getting knowledge about external stimulus.

4) Sensation is not possible without external stimulus.

Our perception occurs in the nature of figure and background. Which of the following statement

does not support this opinion of Gestalt psychologists?

(1)  While giving meaning to sensation, both figure and background have to be taken into

consideration.
(2)  Considering only the background while giving opinion about some object is not needed.
(3)  There can be change in figure and background.

(4)  This change is dependent on the person who is getting the experience and the nature of

the object.

When an object comes before our eyes even when the object is not there, then it is called imagery.

Which of the following statement is not correct about imagery?
(1)  Previous experience is needed for forming imagery.

(2)  Images formed are all of the same intensity.

(3)  Images become blurred as time passes.

(4)  Images are related to sensations retained by sense organs.

Which of the following type of imagination includes building bunglows of playing cards, building

palaces in air and stories of fairies and ghosts?
(1)  Aesthetic imagination (2) Fantastic imagination
(3)  Pragmatic imagination (4) Productive imagination

“Thinking means arrangement of various aspect of previous experiences in mind”’. Who put forth

this opinion of thinking?
(1)  Stern (2) Stout
(3) J.S.Ross (4) Norman L. Munn
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068.

069.

070.

071.

072.

073.

074.

075.

el fedean fomam ufsharseeran faummed s faum foam afmee Stefie mgca Tw wiq T ?

(1) FrehdTei™ =M 9T 9 = R0 I q69 A1g 9.

(2) gerg fmior Hiq AT ATARREA ATRS , g s AT ATV FATAT AT Tl
IFTEYIH IR,

(3) foumrde e, yftrdidaa s, sfaemmdia e, fafay gemh dimfore aftfesrdt stramaarn
foreneaia fafehcoss foam e fsed w1 Tmeq.

(4) = TMSte SmuRER sy whredt, @ foeiest TS qiEn IAted fhat ATE @ Wifew WifgSl.

e 7t TTgeien fgra=an 120 e arffertor d TTeTd shet 3TTR. cadeh! fsham a1 TTera Wefierdeh
SHIVAT Teh qEA AT 7

(1) =g (2) T (3) voIHTH (4) ggdt
T I T Heheu T drearn 7 MBeR W fear sme?

(1) Torfesmy (2) uftaerarar (3) e (4) ufom
GeAlddshl & U= 79 3l 3R ?

(1) e I99cdt (2) S It

(3) @ishfea=ht Iqucdt (4) TR T 3Y9cd
AT ST ITA=A] STded ST T UuTel Jeehal _ 377&d.

(1) < =g (2) . A T (3) wishfed (4) wate

WA cTueh! SAfFqHccdTer JHUTH SHOT=T Heshideh! BT IS 82 TR,
(1) i geewo (2) GEpdt (3) o ewm (4) st

<

A fashmTea HivreTE s foar e @l fiamehien sgaw 9 UiER A1 kel geehn faem wE
AT, ATEET Wieilel Uehl It faems aHea s ?

(31)  zmedd Avm=n i e Tt gu Sedien faehm saTen weu[ A aTdTeRel U,
(|) IR IUSAdT 9 holl A& W a1 Yehed] T {Iwa= € SamErel.

(%) T fohar TmTERE GAT T ITATERT <3 o= W oSt

(3) Trershmn STeamaq st feneat=an sifiger mafer Tus[ U A STeT ggdten fae soamdt.

(1) &, & 37 (2) 1, % offr g

(3) @, ®aAMS (4) 31, 9, & MM

ST YfshAd SRISATAT S HUuATE Ul TTa Fd a8 U1 Seel 989d at Haffed Tara 3d 9 S
ga foweeh 3-4 T fooel o@a@. =@ TEUE.

(1) orgs fEam (2) R AfEgH

(3) i sty (4) drcehitereh sirEae
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068.

069.

070.

071.

072.

073.

074.

075.

Following are some statements about thinking process. Which of the following statement does

not explain educational importance of thinking process?

(1) Do not establish relation between an event and its cause by coincidental judgement.

(2) It is unnecessary to use the maxims like 'known to unknown' and 'concrete to abstract' for
concept formation.

(3)  Let the students think critically while studying theorems in geometry, observation in science,
historical events and geographical conditions of various countries.

(4) It should be seen whether there is enough material for making inferences.

Guildford has arranged 120 factors of intelligence into three groups. Which of the following factor
is not included in the group "Operation"?

(1)  Cognition (2) Memory
(3)  Evaluation (4) Method
Gessel has emphasized on __ while explaining the concept of development.
(1)  Characteristic (2) Maturity
(3) Learning (4) Effect
is a formal teaching method
(1)  Instruction theory (2) Bruner’s theory
(3)  Socrate’s theory (4) Normative theory of teaching

The pioneer of cognitive theory of teaching from the group of Normative theories of teaching is

(1)  John Dewey (2) N. L. Gage (3) Socrate’s (4) Herbart

Following are factors affecting personality is a psychosocial factor.
(1)  Physical weakness (2) Culture (3) Heredity (4) Physique

A teacher has to think about both heredity and environment while thinking about human

developmental aspects.

Which of the following statements support the above statement?

(A) To provide suitable environment to students coming to school from different environments
in order to develop their inmate powers.

(B)  To provide subjects by considering each child’s inborn qualities and talents.

(C)  To enable the students coming from poor and backward classes to progress by providing
suitable environment.

(D) To enable teacher to select suitable teaching method for teaching the students and
understanding their cognitive level.

(1) A,BandC 2) A,CandD 3) B,Cand D 4 A,B,CandD

The process where the subject does not have full freedom of behaviour, that is he does not have
full restriction but has limited freedom and the subject has been given 3-4 options of behaviour,
then it is called

(1)  Instrumental conditioning (2) Motor conditioning

(3)  Classical conditioning (4) Temporal conditioning
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076.

077.

078.

079.

080.

081.

082.

083.

S fercrea Tohall STuarT=an aq-Ten fofkre AT quamenel @ A fafvre adaren fafkre safi| g3 stufera o
HAATTHAThGT TSI VVITHIS! B ALY TN IUGHd 3Ll

(1) T=m (2) oA (3) wfsreor (4) fygyae
IR IR gaTar e ged, Sieepidt, 3cardt 9 fawuor 3 safemecar™ gehR I e
(1) facum . e (2) = g

(3) W (4) fEoamshed

e fawame fovevw s crdie dcd gasTg B, fafay fower= steem S @rde ges 9,
e A= ST e, Teael ST e AT AR fohdl G HIGU § ST WA 3T,
(1)  GmET=fiehtr 39dedt (2) rforqandt Iqaedt

(3) U9 UH It (4) el g

WrefiAdeh! ShIvTaT Tt JTOTT=shT=T A ShH gREad! ?
(1) 93, TS, STEFEYT, THIEH, THd TG,
(2)  TEIEYAT, T, TS, THATA TG0, THTEM.
(3) TS, STEIEYAT, T, GHAIA TEU, HTYM.
(4)  TEIEYAT, TS, Y, THATA TG0, THTEM.

TeAledl 9 TR I fecten wrafie gigaa=n gehrdie sterufadt a1 geshla Wiefietish! hivar 379
guTfas T8 ?

(1)  ATHf==T (2) ITH ATCHINE

(3)  emcHfowamd (4) R Softe

HHEe U Al RIS GIeardeh! HIvdT GI™ IuFF Ta! ¢

(1) ooui=a HROMIED e . (2) TEyE JHhT HRO e,
(3) oS MYlaed fo=mr sar. (4) WIS i Foar ST,

oIy e StEcie rEEATeAieA dTedid Wieldeh! hivd! STd I 378 ?
(1) = faeneata adq gdamT=EReE 37ed.

(2) = foeneAtardl v IUHT TS THTA.

(3) = foqeneata geamT= fregor Syawd AMET odT A4 AT

(4) = faeneatardt a9 AT FAATHHAT T&AT STETEl.

TN R Uit 37 ¥hd AT STeid @Il foied S Jedgd ard Sier=n gt |

A B
) | SeTaE ) | #@ft M diel YA bl d= A,
) | SYSETeRET i) | % M wgquEEe  SAeddr.
%) | STETEERT 1) | 1l MY SAUCATAT T 3.
(1) 1 —ii,d —iii, s —1i (2) T —iii, ¥ —i,% —ii
(3) H—i,d—ii,s —iii (4) 1 —ii,9 —1,% —iii
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076.

077.

078.

079.

080.

081.

082.

083.

In order to give specific shape to human and animal behaviour and to give specific incentive

for specific behaviour, for eliciting expected behaviour from the learner, type of
teaching is useful.
(1)  Indoctrination (2) Instruction (3) Training (4) Conditioning

Classifying personality based on the secretions of the body in four classes viz - Phlegmatic,
Choleric, Sanguine and Melancholic was done by

(1)  William Sheldon (2) Carl Jung (3) Kreshmer (4) Hippocrates
Analysing the subject by understanding its principles, studying rules and formulae of various
subjects and actually preparing the rules and formulae are the aspects of of transfer of
training.

(1)  Theory of generalisation (2) Theory of formal discipline

(3)  Theory of identical elements (4) Bagley’s theory

Which of the following alternative shows the correct sequence of motivation cycle?
(1)  Attempt, Need, Restlessness, Satisfaction, Keeping balance.
(2)  Restlessness, Attempt, Need, Keeping balance, Satisfaction.
(3)  Need, Restlessness, Attempt, Keeping balance, Satisfaction.
4) Restlessness, Need, Attempt, Keeping balance, Satisfaction.

Which of the following is not included in the factor “Self awareness” of emotional intelligence
proposed by Salovy and Meyer?

(1)  Self control (2) Accurate self assessment

(3)  Self confidence (4) Emotional awareness

Which of the following alternative is not useful for decreasing mental conflicts?
(1)  Stay aloof from the very reasons of conflicts.

(2)  Find out the exact reasons of conflicts.

(3)  Think about the things that are avoided.

(4)  Take advice of elder person.

Which of the following aspect about the learners with special needs is correct?
(1)  The behaviour of these children is normal.

(2)  There should not be different activities in school for these children.

(3)  These children cannot be absorbed in the normal education system.

(4)  There should be independent and different curriculum for these students.

Retention occurs at various levels. Following are given levels and retention information. Which
alternative shows the correct pairs?

A B
(A) [Cognition state 1) |Some things are recalled after small attempt of remembering

(B) [Semi cognition state |ii) |Some things are recalled with great difficulty

(C) [Non-cognition state |iii)|Some things are recalled quickly
(1) A-ii,B—iii,C—1i 2) A-iii,B-1,C—1ii
3 A-i,B-ii, C—iii 4) A-i,B-i,C-—iii
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1
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12
1
12
1
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12
0
1
1

084.

08S.

086.

087.

088.

089.

090.

ST TETE LI Uhle LI S IISTaEia TEREaY, HRISRU Tag 3. de AL

U3 TR hel I AT ATl TN HIOATT TET AT T M Tdrenn T wgorn.
(1) =ibe (2) dife®

(3)  drehrieTh 4) &«

TATNE, T, TERE B Welcrdsh] e g e qgdi=h smamRyd decd oTea ?

(1) e ugdt (2) e ggdl

(3) e ugdt (4) & =S

SidsT T Fered, YHgl fesciedn fhar URTS TR gE=AT SHedeAT |ifEATd Ued, fa=n SAet
aE Tey 31e fohar foeameft STvet A1d 318 o8 WrEET el 3ufla SrehveaTE 9 WfOsT aTeavaTE Siegt

(1) fcregor (2) e
(3)  ATCHATSU (4) drere=

T M NG B I SHNAT e, Aifed 3. R fibed oA < Sidge i
B SAId 38 A Wigd He=dareer SENerel Jary ik 39t @iefierdeh! hivel HHeEs-
TG ohefl 7

(1) < i (2) S g

(3) oHeES (4) fem

g, smieeim I wme fhar fosm o fawemean steamTEndt Snfvr foeneaten qehlg fommen fawm
BITITHIS Wetiertsh! vl Tgdl S shiget ?

(1) == (2) dftwaTg

(3) wuEd (4) =aEEH

= A gall AEITH Shod TEUATe R0 AT JEIeiehtul 1 BI0l A1 HeHid @ieiietdshl hivrd faum
A TR ?

(1)  YeeiteRtor J gIvaTel RO TIchTaTel JHTe STE0l,

(2) I foemeAi= AT TUAT AREAT S o UIdAE A,

(3) AT GHTAT AT T T

(4) TN T U= T hedATd e ekl ST B9,

et 9 YT 30T IT=ATsit Gefed SRR Bieh foddl 378, <I=a1 I SISAT= A1 <hivrdr ?

IUTTH CUNME]

) | ggrmift A) | sy foemeff Staam.

i) | gt B) | se foetes 3t

iii) | wpepTiedt C) | g 3 faumefl smm stfaam.

(1) i-3A,ii—d,ili—% (2) i—-9,ii—%, iii—3
(3) i—-%,ii—o,iii—3A (4) i—-9&,ii—3H,ili—
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088.

089.

090.

When a topic is studied by understanding the internal relations as well as cause and effect relations
and if after a period of time this particular unit has to be recalled then this type of memory is

called as memory.
(1)  Rote memory (2) Rational memory
(3)  Immediate memory (4) Prolonged memory

Which of the following teaching method shows the principles of self learning, independence and

cooperation?
(1)  Vinetka method (2) Dalton method
(3)  Project method (4) Gary scheme

When an individual tries to stay in the viscinity of prestigious person and tries to show that he is
very close to him thereby trying to hide his own short comings and increasing his own prestige,

then this is called as type of defence mechanism.
(1)  Compensation (2) Displacement
(3)  Self punishment (4) Identification

‘New experiences mingle with the old ones as per the laws of similarity, proximity etc and form
links.” Who put forth this opinion and put forth the theory of Apperception based on associationism?
(1)  John Lock (2) John Herbart

(3)  Thorndike (4) Skinner

Which of the following method was proposed by Dr. Armstrong for teaching science subject and
development of reasoning power of the students?

(1)  Seminar (2) Symposium

(3)  Meuristic method (4) Lecture method

According to Skinner the main reason why students lag behind in studies is that there is no
reinforcement. Which of the following statement is not correct with reference to above statement?
(1)  Lack of encouragement is a reason of no reinforcement.

(2)  The learning capacity of every student is same standard and level.

(3)  Lack of revision of learning units.

(4)  Reinforcement is done properly if there is facility of personal learning method.

Following are given two columns. Match them and tell which alternative has the connect pairs?

A B
i) | Pedagogy A) | Content is decided by students
ii) | Androgogy B) | Content is decided by teachers
iii) | Mutogogy C) | Content is decided by teachers and students
(1) i-A,ii—B,iii—-C (2) i-B,ii—C,iii—A
3) i1i-C,ii—B,iii—A 4 1-B,ii—A,iii—C

Q.B. Series - 102 Marathi/Maths-Science (Set - A) 17 of 32

oy
oy
=
oy
oy
oy
oy
oy
oy
oy
oy
Ao



AN
19
1
12
1
12
1
0
1
0
0
1
T

091.

092.

093.

094.

09s.

096.

097.

098.

099.

100.

GG CRIC
WAl IV T qes HE&AT Tl ?
(1) 431 2) 437 (3) 557 4) 571

i */\g_i —a+b 3, @ Frma fomdt?

(H 4 2 -2 3 -1 4) 2

+

12 Fepteia forgqd Sdia SiTed fepcft eRIoT e i 7
(1) 210 (2) 240 (3) 180 @) 132

WTeATAdeh! v T&IH 6, 12, 16 3 WIfdear™ «rehl 11 T&d ?
(1) 1235 (2) 1191 (3) 1163 (4) 1431

Wm%mmmmﬁ.w@ﬂﬁmwﬁmméwww
TEd T erehi=an et 9rma ferdt forex uroft T&ier ?

(1) 90 ferex (2) 135 forex (3) 270 ferex (4) 180 ferex

wﬁaﬁvﬂmwwﬁﬁﬁmﬁaa@@m%xz+3x+2%a@,mwﬁaﬁmﬁﬁﬁ%ﬁ?
(1) x 2) x+1 (3) x+3 4) x+5

(5—24/3) & dean Geliaiiehl shIva TR 3R ?
(1) omfE= () Ul
(3)  swtam, aRE g AT (4) Ui

W3 +3V=36a x+y=5T3" Y =Tkt ?
(1 27 (2) 243 3) 1 4 3

AT TEAT I AT AFSATT IS ST % T2 3R, 12 INHM A 99 Jfearea el
AT FHIE 3R @ AT A9 99 fehd! ad Tfgd ?
(1 18 Q) 36 3) 12 4) 24

UTET=A1 Algean T 20, g1 WA 24 & fo@=n Td 28 oAl 37ed. HUREM geat=al TRU 40
T 3R O/ 28 =1 T TRUT Tl et el ?
(1) 128 2) 176 (3) 132 4) 180
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091.

092.

093.

094.

095.

096.

097.

098.

099.

100.

MATHEMATICS & SCIENCE

Which of the following is not a prime number?
(1) 431 (2) 437 (3) 557 4) 571

If i1 ¢ +b /3, then find the value of ‘a’?
(1 4 2 -2 3 -1 4) 2

How many triangles can be drawn from 12 non - collinear points?
(1) 210 (2) 240 (3) 180 4) 132

Which of the following numbers, when it is divided by 6, 12, 16 the remainder will be 11?
(1) 1235 (2) 1191 (3) 1163 (4) 1431

%th part of water tank is filled with water. If 51 litres of water is taken out from it 1gth part of

water remains in it. Then how many litres of water will be remained in half of the tank?
(1) 90 litres (2) 135 litres (3) 270 litres (4) 180 litres

A base of a triangle is greater than its height. If its area is %xz + 3x + 2 %, then find its height?
(1 x 2) x+1 3) x+3 4) x+5

What type of number (5—24y/3) is ?
(1)  Irrational (2) Rational

(3)  Neither rational nor irrational (4) Integers

If 3*+37=36 and x+ y =35 then find 3" .
(1 27 2) 243 3) 1 4) 3

Present age of son is %—times the present age of his father. 12 years hence the age of son will be
the half of the age of his father. Find the present age of son in years?
(1) 18 (2) 36 3) 12 4) 24

In a hall, there are 20 chairs in I* row, in II"® row 24 and 28 chairs in III" row. There are total 40
rows in the hall then how many number of chairs in the 28" row?
(1) 128 (2) 176 3) 132 (4) 180
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A
A
0 |

WO 101, E AT A MAN, #ed OM @ ON 2@ 3% H £ AMN @ £ ANM 9 3Is% #18d a3
N0/ m £ OMN +m £ ONM = fedt?
0

A

1

0

0

A

g@ A ° N
1

(1) 55° 2) 25° 3) 135° 4) 45°

102. 7 =41 9 ufgean 19 J9fies s 9ie ford) ?
(1) 1216 (2) 1330 (3) 2527 (4) 1463

103. Eellceh! Sivd] S AU T&AT= SEl 3177 ?
(1) 187,153 (2) 78,143 (3) 75,28 (4) 152,247

104, <hIA THSAS <M Teh hiF GHATSA] dHIS 38 T AT A8M hiATe A fehel ?
1y 30° 2) 90° 3)  60° 4)  45°

105. 5 9™ 20 fidie & 9 uem feawm=ar sieher fordt 31 ?

) 175% @ 22% 3) 22.5% @) 18%

106. st x=4/3, y=3/6, z=4%/7 @ wrelieshl v foem aeg 3R ?
(1) x>z>y (2) x>y>z (3) y>z>x 4 z>x>y

107. SIS 3Aehdid, AW AaaEd agert B 10 JH 3118 T {@ifhd WHTE &hes fohd! ?

() 214 <@t (2) 76 e (3) 216 =re (4) 86 =aH

108. 24 Tft 9ieid) stEcicsn SREmaT Hurel arst fohdl ?
(1) 62 @t (2) 6T (3) 123 4) 1242 @t
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101.

102.

103.

104.

105.

106.

107.

108.

In the figure, In A MAN, seg OM and seg ON are the bisectors of £ AMN and £ ANM
respectively, then find m £ OMN + m £ ONM = ?

A N

(1) 55° (2) 25° 3) 135° (4) 45°

Find the sum of first 19 numbers. Which are multiple of 7 ?
(1) 1216 (2) 1330 (3) 2527 (4) 1463

Which of the following pairs is a pair of Co-prime numbers?
(1) 187,153 (2) 78,143 (3) 75,28 (4) 152,247

In a cyclic trapezium measure of an angle is thrice the measure of other angle. What is measure
of small angles of them?
(1) 30° (2) 90° (3) 60° (4) 45°

What is a percentage of 5 hours 20 minutes with respect to a day ?

) 179% @ 22%% (3) 22.5% @) 18%

If x=v3, y=%/6 and z=%/7 then which statement is true statement from the following?
(1 x>z>y (2) x>y>z (3) y>z>x 4 z>x>y

In the figure, a circle of radius 10 cm. is inscribed in a square is shown. Find the area of a shaded
region.

(1) 214 cm? 2) 76 cm? (3) 216 cm? (4) 86 cm’

What is a length of a diagonal of the square whose perimeter is 24 cm?
(1)  6y2 cm (2) 6cm (3) 12cm (4) 122 cm

Q.B. Series - 102 Marathi/Maths-Science (Set - A) 21 of 32

=

6]



AN
19
1
12
1
12
1
0
1
0
0
1
T

109.

110.

111.

112.

113.

114.

115.

116.

117.

6 Hiet 9 4 Hiex I Wiel THHABAEA 25 HIeX HAG Hed. T WATe o 2leh GE=AT=AT YTt
SISUT=AT T WeAfergel 3= fehet ?
(1) 1.8+ (2) 2.6 (3) 24 4) 1.5

HTfge sehehgd WA 11 G 60,000 FIAT ol Bdel. AEGHS Sohdl Al JTEeATHeS Soh
ST g e N 0.5 4 9 fg=n ol gg1 0.5 + il hear® i awiean vael @nfeerann gl fohdl

TR STHT S AT ?
(1) 77,800 (2) % 78,900 (3) % 68,900 4) % 70,900

8 Tt U STEeie THigYS B ufidifa 0.18 et g W I ke fohdt ?
(1) 24 =@ ) 12 =S (3) 20 = (4) 24 =R

e MN Sqeste S 9 W AM 8 Tafsiert 31, SRAN = 25 &, AD = 9 &#fi. T aqesreit B fehell 7

N

A M »

(1) 10 @t (2) 16 @ (3) 34 Tt (4) 15 @

TR gl 36 Taeneats aued a3 14 9y 31y, Fifviers fesfaeame & e s 9 U 3 ared
T et a9 fopdt oN 3R ?
(1) 3698 (2) 48a9 (3) 42=9 (4) 519

SR el forshl fohrd grae ehefl T T faue STedt™ ket Tl fehdl Bise ?
()  75% (2) 150 % (3) 100 % 4) 60 %

gryeie hgart 2014 = o9l 18,200 T fHesreft, faam ooret 14,950 T firesvamandt fordt foawm
M HS A 7
1 19 (2) 18 (3) 23 4) 26

TG HiE A= R hreehia Fehivr 35 = vl 61 At 9 U o 11 At o1, 45 |t 3=ht
U= Aatadien fodegm 10 o =ama g 21 &t 3 o= fepdt gaferdt qam gidie ?
(1 11 2) 9 3) 7 4) 12

SR 6x% —xy:2xy— y*=6:1, Wx:y = Tl ?
1) 3:2 2) 5:2 3) 3:5 @) 1:3
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109.

110.

111.

112.

113.

114.

115.

116.

117.

Two poles of height 6 meter and 4 meter are sets up on a ground at a distance of 25 meters from
each other. What is a height of a point of intersection of line segment joining the foot of one pole
and top of the other pole?

(1) 1.8m (2) 26m 3) 24m 4 15m

Sahil taken a loan of Rs. 60,000 from a bank at the rate of 11% p.c.p.a with simple interest. Due
to demonitization the liquidity of a bank is increased. Hence bank reduces it’s rate of interest on
a loan by 0.5% for 11" year and again 0.5% for III" year. What will be the net amount Sahil has
to pay after third year to a bank?

(1) Rs. 77,800 (2) Rs. 78,900 (3) Rs. 68,900 (4) Rs. 70,900

Perimeter of an isosceles triangles of base 8 cm is 0.18 meters. What is the area of a triangle?
(1) 24 cm? 2) 12 cm? 3) 20m? 4) 24 m?

In the figure seg MN is a diameter of a circle and line AM is it’s tangent. If AN = 25 cm,
seg AD =9 cm. Find the radius of a circle?

N

v

A M

(1) 10 cm (2) 16cm (3) 34cm (4) 15cm

Average age of 36 students in a division is 14 years. If age of their class teacher is added in it
average of age is increases by 1. What is age of their class teacher?
(1) 36 years (2) 48 years (3) 42 years (4) 51 years

If selling price of an article is doubled, the profit accured becomes three times. What will be the
percentage of profit ?

1 75% 2) 150 % (3) 100 % 4) 60 %

Rs. 18,200 is a wages of Sayali earned in February 2014. If she wants still more wages of 14,950.
How many days more she has to work?
() 19 2) 18 3) 23 4) 26

Base of a solid metallic prism is right angled triangle, with hypotenuse 61 cm and if one side of
it is 11 cm. height of prism is 45 cm. It is melted and right circular solid cylinder of diameter 10
cm and of height of 21 cm are made from it. How many such right circular cylinder can be made?
(H 1 2 9 3) 7 4 12

If 6x* —xy:2xy—y*=6:1, the find x:y ?
(1)  3:2 2) 5:2 (3) 3:5 4 1:3
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AN
0
12
1
12
1
12
12
12
12
12
12
e

2T : AW TR 99Td Adeh=AT=1 Udeiel IcaTed [aHTSiia TAHTAGTIHTO ATg =l e e a

WTeiter 99 6. 118, 119 = 120 = 3™ =T,

| JHTOT Y 3T
|15 = 10 feaea
B H1q
4 [ ] TITSL'\
100
9
80
.(E 60
50
4
l 30
| 20
10
0 2012 - 2013 - 2014 2015 i
S G I
“— g —
| 1
118.  Shiurean IYf HIaT=aT 3cUTeAT™ Yhel YHIUT Fald STEd &id ?
(1) 2012 (2) 2013 (3) 2014 (4) 2015
119. Tegre TUEdl 3edted fobet fordeat amel ?
(1y 375 (2) 71.25 (3) 33.75 (4) 4125
120. e el IcqTe fehdl TR ?
(1) 4737% (2) 4832 % 3) 52.63% 4) 5420 %
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Note for Q. 118, Q. 119 and Q. 120

The yield of some crop is taken by the farmers during last four years is shown, by the divided bar
diagram. Observe the graph of divided bar diagram and answer the Q. 118, Q. 119 and Q. 120.

| Scale

On Y -axis - Yield of Crop
1 cm = 10 Quintals

On X - axis - Years

= ‘ ' | | | B9 Rice

| [] Wheat

=
 Ei¥a e
(en)

Ne)
«n)

e ol
(=)

-
(e}

W
)

B
)

+— Yield of Crop —»
N
=)

(TS
S

o
(o)

Lo
jen)

4353,

=]

2012 201 - 201 - 2015

1 1
|‘_ |Year|s _7 '

118.  In which year percentage of yield of a Rice is maximum?
(1) 2012 (2) 2013 (3) 2014 (4) 2015

119. What is the average yield of Wheat in quintals?
(1) 375 (2) 71.25 (3) 33.75 (4) 41.25

120. What is a percentage of yield of Wheat?
(1) 4737 % (2) 4832% (3) 52.63% 4) 5420 %
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121.

122.

123.

124.

125.

126.

127.

128.

129.

130.

131.

132.

T Sl qaehs 8 km =TETd AT ST HaR IThe 6 km Tl o I fargemo fomdt ?

(1) 14 km (2) 2km (3) 10 km (4) 4km
IR STFETESTAT IHE JTEUTAT Tl S & 3.
(1) 5 (2) 6 (3) 4 (4) 2

ALY AATIHETO] HEAT THd.

(1) @ (2) @ (3) qrrHE (4) =
I SI Teheh hIUTd ?
(1) T (2) A (3) m/s? (4) N/m?
UREEHAT= 63T Uh 7 IR,
(1) srcgffem (2) (3) wm (4) =i

B IEAdl Ik ST d1e U
(1) rifag= (2) fesiferm (3) TRRHENH (4) fafafaes 3w
5 Kg I&qHM 318U a&q= T 15 Kg. m/s 378, o1 aeqt Tifast 3 7.
(1) 20 =@ (2) 75 v (3) 3 =@ (4) 22.5 g
3Teeh (Alkene) = T T IR,
(1)  CH, (2) CH,., (3) CH,, (4) CH,,,
A GENTHY Sed! MUT Y10 AT FE HIOTRT HH A 71 TR,
(1) et (2) wferRT (3) whm aest  (4) WA
e SRE T IFAGT 3.
(1) = (2) omEH (3) =i (4) w®
LPG =it Tesdl sNesEuaEd! @ ffEsae gae s & B
(1) faata (2) 33 (3) offgem (4) 3o wehweA
U TSI 7.
(1) T= grEt 3nfor %  are (2) T=AT ARG AT HE AT
(3) AT SIS ST HE TS (4) & ARG 3T THT IS
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121. A man travels 8 km due east and then 6 km due north. What is the magnitude of his displacement?

(1) 14 km 2) 2km 3)

10 km (4) 4km

122. Total number of atoms in a molecule of aluminium oxide is

1 5 2) 6 3 4 4 2
123.  Water vascular system is present in

(1)  sponge (2) fish (3) starfish (4) cockroach
124.  What is the SI unit of weight?

(1) Kg (2) Newton 3) m/s? (4) N/m?
125.  Essential constituent of amalgum is

(1)  aluminium (2) copper (3) mercury (4) silver
126.  The plant harmone which inhibits growth of plant is

(1)  auxins (2) gibberllins (3) cytokinins (4) abscissic acid
127. The momentum of a body of mass 5kg is 15 Kg. m/s.

Its kinetic energy is

(1) 20 Joules (2) 75 Joules (3) 3 Joules (4) 22.5 Joules
128.  General formula of Alkene is

( 1 ) CnH2n (2) CnH2n+2 (3) CnH2n—2 (4) CnH2n+l

129. The common passage meant for transporting urine and sperms in human male is ........ .

(1)  Ureter (2) Urethra 3)

130.  The intensity of sound depends upon
(1) note (2) amplitude 3)

131.  The substance added to detect leakage of LPG is

(1)  methanol (2)
(3)  acetone 4)

132. Homologous organs have
(1)  same structure & same functions (2)
(3)  different structure & different functions 4)

Vas deferens (4) Seminal vesicle
timbre (4) tone
ethane

ethyl mercapton

same structure & different functions

same functions & different structure.
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133.

134.

135.

136.

137.

138.

139.

140.

141.

142.

143.

e FEadd e weafagy TEUTATd.

(1) gd (2) YhRiT Ay

(3) e (4) aghaT AEA

WTeATAdeh! IWILHT FATFATES hIVTd ?

(1) CaO (2) Na,O (3) ZnO (4) MgO
feny verat=an qemmETdl swrofid srEom faet 7 .

(1) feufgm (2) <mEUS (3) T (4) U=
10A foRgaumy wgorr=

(1) 10JC? (2) 10 VC' (3) 10 Cs" (4) 10 Ws™

Ca?" 3Fmed foheft Soiagia dier ?
(1) 20 (2) 18 (3) 22 (4) 19

HE=AT VAT HRTGR HEFhe! ATA(I0l, Tehl Bl Wd €10 geardl fopan Fafi shean e 7
(1)  wfe (2) omgufeass
(3) csmsST (4) AT |

Teh STl 2 TR fiTdi=an A3 werehl Wiedl. dl s¥ed] o1 TS feal Sfdeat 2 SeheHdL i
a0 fiead 4 ThaHaX Ushdl. ST et 336 ms! AT AMH YA HAG A W &A1 gF T 3T
femet ?

(1) 2016 m (2) 1008 m (3) 1080 m (4) 1800 m
JTeRITgl e B AT UGt ggred STHUT=T U= T&T B,
(1) 1734 (2) 1 foretim (3) 13 (4) 19

GTAtdeh! hIvd RNA Faid @gM 3794 ?
(1) t-RNA (2) m-RNA (3) r-RNA (4) p-RNA

Teh RIS Tohtur shei=ar foUer @i WG AT Bidl. ATEIdd 3T9add shiur fehd! ST9I= 378 ?
(1)  180° (2) 90° (3) 0° (4) 45°

(1)  H,0 = H,0 (2) KIsfr I
(3) CH,3nfor CH, (4) Na'afor HO
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133.

134.

135.

136.

137.

138.

139.

140.

141.

142.

143.

The point at the centre of a lens on principal axis is called as

(1) pole (2) optical centre

(3) focus (4) centre of curvature

Which of the following is amphoteric oxide?
(1) CaO (2) NaO (3) ZnO 4) MgO

The enzyme responsible for fat digestion is

(1)  trypsin (2) lipase (3) amylase (4) pepsin

An electric current of 10A is the same as .
(D) 10 JC! 2) 10VC! (3) 10Cs'! (4) 10 Ws'!

How many electrons are present in Ca’" ion?
(1) 20 (2) 18 3) 22 4 19

Which part of the brain controls the actions like riding a bicycle, running along a straight line etc?
(1)  Cerebrum (2) Cerebellum
(3)  Medulla oblongata (4) Pons varolli

A man standing between two parallel walls explodes a cracker. He hears first echo after
2 seconds and 2nd echo after 4 seconds. If sound travels with speed 336 ms' then what is the

distance between two walls?

(1) 2016 m (2) 1008 m (3) 1080 m (4) 1800 m
Avagadro number is the number of particles present in of that substance.
(1) 1 gram (2) 1 kilogram (3) 1 molecule (4) 1 mole

Which one of the following RNA is the smallest?
(1) t—RNA (2) m—-RNA (3) r—RNA (4) p-RNA

A ray of light incident normally on a rectangular glass slab. What will be the value of angle of
refraction?
(1) 180° (2) 90° 3) 0° (4) 45°

London forces are present between .
(1) HOand HO (2) Kland [
(3) CH,and CH, (4) Na"and H,O
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144.

145.

146.

147.

148.

149.

150.

(1) <piepm (2) <faem (3) i (4) wgEfsesn
SegT ARG ARV foeaem SRde arefae! dogT o dRqd d9’ SV IS .
(1) =mue (2) T (3) e3ue (4) W@

GIelicdeh! SHIUAT T Y TR Tehr=l AT 377 ?

(1)

F, Cl, Br (2) Li,Na, K (3) Li, Mg, Ca (4) AL P Cl

WATAThH I It AT SIUIEEST ITAN gedrd ?

(1) TfIa AhER (2) T e

(3) Ul IMER (4) =TT AR

SAIEAT TG e SO foRaam= @e9 9 aRardl 3T,

(1) fose fogaam smfer 50 Hz (2) yeamadt faggaem efor 100 Hz

(3) fose foggaemn smfor 100 Hz (4) ycamadt foggaeam o7for 50 Hz
<t FARMA e sk e faiere i dEm S,

(1) el g (2) g e

(3) o ot wRer g (4) T
7 feaw ‘Smifae omm fe7’ wevm | e A4t

(1) Tt 7 (2) T 16

(3) e 12 (4) "R 16
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144.

145.

146.

147.

148.

149.

150.

Rod shaped bacteria are called .
(1)  coccus (2) bacillus (3) spirillum (4) vibrio

When current flowing through the wire is increased by four times then heat produced by wire is

increased by

(1)  four times (2) two times (3) eight times (4) sixteen times

Which of the following sets belongs to the same period of modern periodic table?
(1) F CLBr (2) Li,Na, K (3) Li, Mg, Ca 4) ALPCl

Which of the following tissues helps in the secretion of saliva?
(1)  Glandular epithelium (2) Columnar epithelium
(3)  Squamous epithelium (4) Cuboidal epithelium

The nature & frequency of electric current used in our homes is .
(1)  direct current & 50 Hz (2) alternating current & 100 Hz
(3)  direct current & 100 Hz (4) alternating current & 50 Hz

Bleaching powder is produced by treating chlorine with
(1)  quick lime (2) milk of lime
(3)  dry slaked lime (4) lime stone

‘World Health Day’ is observed on .
(1) April 7 (2) April 16
(3) August 12 (4) September 16
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